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For this problem set, I will accept submissions with one name only. 

 
Please work the following problems by hand.  Check your work with Matlab. 
 
Given: 
A = 
     2    -5     3     1 
     3     2    -2    -1 
    -3     1     1     3 
 

B = 
     1     3     2 
    -2     3     4 
 

C = 
     2    -4 
     1     3 
 

D = 
     3     0 
     0     2 
 

x = 
     1    -1     2     3 
 

y = 
     2     3    -1 
 

z = 
     3     1 
 

 

 
Compute: 
 
 (1)  A xT 
 
(2)   AT B 
 
(3)    C zT 
 
(4)   D B yT   
 
(5)   z C 
 
(6)   C q = zT (solve for q) 


